SUM & DIFFERENCE IDENTITIES:

Cosine: cos(a + B) = cosacosP - sinasinf
cos(a—B) = cosacosf} + sinasinf
Sine: sin(o + B) = sinatcosP + cosasinfy
sin(a - B) = sinacosP - cosasinf
tana+tanf
T : =
angent tan(o + B) 1—tanatans
tana—tanf
1 — =
an(o - ) 1+tanatanf
DOUBLE-ANGLE IDENTITIES:
sin20 = 2sinBcosO tan2@ = _2tand
1-tan20
c0s20 = cos®0 - sin°0
= 2cos?0 - 1
= 1- 2sin°0

HALF-ANGLE IDENTITIES:

sinf =+ 11— cos@ cosg:i /1+c2039

2
ang ==+, [1-€%5 (cos0 %1
ans == cosO=-1)
OTHER IDENTITIES
. 1
sihg= —— cos6=——
csch secH
Tane—L:ﬂ CSCGZ_L
cotd cosb sind
secO= cotb = L = c?se
coso tan® sind

sin0+cos?0 =1 1 + tan0 = sec®0 1+cot?0 = csc?0



